Part &' General Intelligence and Reasoning

HIT &

Part A: General Intelligence and Reasoning
LiH Tq

Question Nos.1 to 3

T #3aF
Directions / fader find the odd word / letters / number
from the given aftermatives,
R v fREeyr & & 39 ww / 3/ wEwW g

g

1)

By JG B) RN
C) NI D) UQ
2)

Ay 22 B) 12
€) 15 D) I8
3) N

A) gpeed post /FiEERE B) sMS/THUTHTH

) Letter / T3

4) Observing the Trend find the missing number.

wafes &7 2w §U e wear i HfE

B) 3
D) 10

D) Maney order | AHIATST

Question Nos.5 to 8
T HEST 5 B Aw

Directions / fAder Selsct the refated ward / letters /
number from the given alternatives.

Pa av Reeyl # § geRlET oeg / T/ HEW F

5) DIMO:DMIO JUVR:?

A) JUVR
c) IVUR

B} JVERU
D) JRYU

6) FRENCH : FRANCE
I E e = R
Al HOLLAND /gids
Cl NoRWAY /=1

T &18:T7:7
A) 51
C) 49

+ DUTCH ;7

E)
D)

B)
D)

8) BOOK ' LIBRARY :: TREE:?

OEde | GEAHIEd

A) ErUIT | T
C) SHADE/! ©rar

THE 7
B)
D)

S

FLIT / ToRatr
SWEDAN / F&8A

28

FURNITURE [ SaTaT
[OREST/ &=

9) If STOVE is coded as EVOTS and CANDLE 15 coded a3
ELDMNAC then REPORT is coded as?

e STOVE &1 318 EVOTS ¥ 3% CANDLE & 313
ELDNAC ¥ @ REPORT &1 %Y2 FIT g7

A) PORTRE
€} QDONOS

B)
D)

SFQPSU
TROPER
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Far A: General Intelligence and Reasconing

e w Wl Ao Ta denied

10) A word is represented by only one sel of numbers as given
inuny one of the altermnatives. The sets of numbers given in
the alternatives are represented by two classes of alphabets
as in two matrices given below. The columns and rows of
muatrix I are numbered from O te 4 and that of matrix [[ are
numbered from 5 to 9. A leter from these matrices can be
represented first by 1s row and next by its column, g, *0°
can bhe represented by 0, 12 etc, and *P' can he
represented by 36, 68 ete. Similarly, you have to identify
the set fir the word ‘FIRE”,

Us eE FEA UF FEQ- WIE FENT g T §
Stur B et & Bl v o Rar e
et & Rw v Fem-ung T F & 3 gE
Zae o g B AR R aw g sremEt o 8
HEZE 1 & Forw dR oFa fr gem ods s i
T FERE 1 Fr sFo |TF amegEt A UF WET A
qEe IHET 9FA A 92 7 T Suar ggnr
ZATTT S FEar B IEwder & fAw, D A oo, 12
Hife, ZanT 2T FT Hepar & g P F 55,68 I
ZanT ZreT ST mEar ¥ | T I @ weE v A
U e FIRE' & fAI0 §@g &1 gg=na= §)

MATRIX - 1 MATRIX - 11
[0]1]273 4 567809
ODEFIN S50PRST
1 I|NID EF 6/S' T O/P.R
2EF IND 7TPRSTO
SNDEFI B8TOPRS
4 F1NDE 9 RIS T|OP
A) 33,34, Tk, 22 B) 21,2288 33
C) 02,03, 57.01 D) 14, 10,69, 14

11} Which of the answer figures can be formed using the
question figure:

T HIHS @ GG S & 85 Ieal gt g4
T TR £7

_.{/ '-\'”\ | //T
£ / \\
C) n] B

12) Five friznds are sitting in a row facing South. Here Mohan
is between Balu and Raju and Raju is to the immediate nght
ol Praveen and Amith is to the right of Balu.
Who 15 in extreme right end 7

wie A v ofde A R & A aa 458 39
g @ AT F g F R g dm S dwmes
3T 8 gl e 3, AT & ars i) Aeae, weE ard
HT FTE?

A) Amith / 31fET
C) Praveen / 938

B) galams
D) Mohan | F1ge

13) IF 2=0, 3=3, 4=6. 5=9 then 7=?
e 20,373, 4=6, 5=9 &, &t =7

A) 16 B) I5
C) 18 D) 12

o539
27 Ve ﬂg&m
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Farl & General Intelligenca and Reasoning

s e mrAnel giweAr T el

4) If
+ stands for x
¥ stands for —
—stands for = and
+ stands for -+, then
AR+H-1242+10="
(Do chronologically and not according to BODMAS rule)

ufe
T ﬂ?ﬁ'ﬂ'%
x, - & oU g
-+ & f@r v
+ + & v g a
48+6-1252+10="
(@ & WO F a5 79 afew HH F I
R
Al 9
C) 4

B) 16
D) 14

I5) A piece of paper is folded and cut as shown below i the
question figures. From the given snswer figures, indicate
how it will appear when upened.

A W ETEr 7 REr #EE sEe S Aza
Fe T @ ¥ g 7% 5w I e o
fearg &m?

o & sty
-_.-'l'.’_\\. i | z/G (_..—"' ‘\\ /r" N
| A h P T Lﬂ | i : I: ™ | #= iy
| |’ *
| B |
A) Bj ¢ D)

16) Which answer figure will complete th pattern in the
question figure?

Fhr @ 3597 wEla ma WETE & uiEey @ g

F17?

Question Nos.AT to 18
T HFear 17 F 18 aF

Dircctions / 82 a series is given, with one-term

missing. Choose the correct altsmative from the given
anes that will complete the series.

v smar &t w8 ¢ fGud o 97 g & T AT
el & @ aF @@t Feew giav St s@er 9T
|

17) 015,03, 7,12,24
A) 4R B) 0.9
C) 06 D) 0.06
18) BCD, DBC, EFG, _? HIJ
A) GEF B) EGE
) UH D) FEG

19) Which of the answer ligue indicates the best relationship
berween Milk, Goat, Cow, Hen?
Fl A Feaw Ty Al g Al F & we
7= ||
oy |
I 1oy Py o N |
||LI'. || '..\_f-l ] } I I,‘\‘ _,' LS I 2

| O S i | | =

T

A) B)

GOZO15 4 1174787
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Parl A General Intsligerce and Reasoning

st . mmed iAo TE aE

20} A florist had 133 roses, she sold 37 of them, How many
roses had she lelt 7

v ey fAFAr O 133 Ao & | IE 3EA A
Sj7 & Tow | 3a% 41e had a9 #4947

B) 1k
D} 19

A) 57
c) 38

21) Which of the answer figure is exactly the mirror image of
the given figure?

7 O 3¢ T & 9 aefa A wE gauT
giafar= #

R —]

:
AL

|
A B &

22) From the given allemative words, select the word which

carmot be formed using the letters of the given word.

frr oo d=Teme omel W, TH MRS W WUA SNaC

= TR o & R &0 9O Hh 7 aAd

ST

INTERDEPENDENT
A) RETREAT B) DLEPEN
C) DEPEND D) REPENT

23} Direction: Two slatements are given followed by two
Conclusions / Assumptions, | and 11 You have o congider
the statement to be true, even if it seems to be al variance
from commeonly known facts. You are to decide which of
the given conclusions / assumptions can definitely be drawn
from the given statement. Indicate vour answer.

Fiar o @ R o & ow arg @t s
AT, 1 30T 1) T 9 ¥ ey fae s B
B a1 Wod § O 9 WA TG a6 §
e gt g | 3w @ e § R o A
Fue 7t @ Ftar Pt w9 & wdl e/
et B A EeAT B HOR Seae & B
o]

Statement / F¥

1. All children are students. | @8fr g=2 Rezmedt 2|

2. All students are players. | T8 el e =
Conelusion | ferssd

I All ericketers are students, | T ToRdhe TSt
Fermit &

l: All children are plavers. | T &=0 = ol

B) Only conclusion
follows, / Shaet e |
e &

A)  Neither conclusion | nor
il follows, / o Fmu |
reaar & it 7 e

LY
C) Only corclusion 11

follows. | 2ad fesed 1

D) Both conclusions 1 and 1l

follow. / e 1 30

Tl & gt frre ]
24) Select the answer figure in whick the question figure iz
hidden.

g% Iee HIET qEICTAEA v WP o 8% 8

GOZO15 0 1174197
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Part A; General Intelligence and Reasoning

25) Which one of the given responses would be a meaningful
order of the following,
| Child, 2. Prafession, 3. Marriage, 4. Infant, 5. Education

= v # e mar wle o Rieey et tan & s
FI B Y
Lm?ﬁjimﬂmmlﬁﬁﬁﬂjﬁﬂﬁfﬁm

A) 13,524 B) 21435
C) 54132 D} 4,1523

502015/ 1174197
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FPart B; Seneral Knowledge and Genesral Awareness

HTFT W@ A A US AT ST

Part B: General Knowledge and General
Awareness

T W WHAEY A TE AT ST

26) The smallest ocean is

T BRI AR Fid 6187
A} pacific / T B) Arctic/ HrER=
C) Aantic / A=ifes D) ngian/ fET

27) The Head quarters of Word Trade Organisetion{WTO) is

situated in;
forem e FoTET & HEAT FEl (U 87
A} London, UK | 5T, Tk B} Geneva, Switzerland /
ST, Teaeates
C) NewDelni/a&fesdt D) Washington, USA/
e, gua T

2B) When water fréczes its density
FF 91 SIH ST §, dF 3T Helea

A} Remnins constant / FrTa B) lncreases /7% Srard)

e 2
Cl Deoresses O T e D) Becomes Zero/ YT EY

ST

29) The headquaters of United Nations Organization is located
&

T TS T4 & HEIET FEl 15 87
A) Geneva / Eﬁ'ﬁﬁ]’
C) Washington / ST

B) New York / =Y UTH
D) Rome / I

30} The acid which fails to liberate carbon dioxide from sodium
hicarbonate is;

TiETw aEFEAe & Fad ZE- e Mees 8

31) Mame the first Indian to be banned for using anabohic
steroid in Olympic games:
SH WUH WA & @ aage g Wefts aet
# vaafas BUgs & @ & F S aRaes

T e

A) Sumitha Laha / "iFaT B) . Sanmancha Chanu /

CIG &1, "HHU e,
C) Aswini Akung; D) pratima Kumari /
HE 3l SfCTAT HHE

32) When was the office of District Collector created?
Toram Foaet &1 Ug &g ae0ar Ty

A) 1771 B) 1773
c) 1772 D) 1786

33) In B.CA5. Vaccine the word 'C stands for
0.C.G. 8 31 0 o T A

A) Calmette ! FoHz
C) Chiorine / Tl

B} Cough/®®
D} Cadmium / Fefas

34) Owide of sulphur present in the atmosphere are washed
down by rains (o cause:

ATETEIOT & HiE Tew-3Terarss ariy § Us A1 § 3
FATEATS £

A} Industrial smog B) Deplction of lossil fuel

farmation / HENfE reserves | BIEE SUH
e AT HaTE T BT
C) Eutrophication infakes/! D) Lowenng of pH of soil /
giel! 7 qEitherer TET# pH &7
[ErsrriEEl

35) Chemicul somposiltion ol heavy water is;

famer s (o) i\ E E? T S W THARE Hued w4 g 87
Al’ Hulp[‘]ul‘il; ucid n'l B} FDITP-iiE E.E'Id ." :mﬁa.l— ﬁ,:l ]]2{:’ E} ]'lD"J
e UiHE - C) M0y D) D0
C) Curbosic acid /FEmE D) Acetic acid / el
o L P [
GD2ME ) 1174187 T PTO
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Part B: General Knowledge and General Awareness

_Ag

W W wWaEE A UH J e A

36) Which one of the following is an autotroph?

frrafefEa & & s g o b

A) Algac / frarer B) Butierfly / fraet
I
C) Mushroom / HerEH B) Grasshopper / fegar

37) Who of the Delhi suitans pursued the policy of "blood &
iron':
T femell aeem & sor 1 smerdy
A) CGhiyasuddin tughlag / B) 1iiutmish / g
ﬁmﬂﬁﬂ’q‘lﬂfﬁ
D) Alauddin Khilji /

C) Balban / et
oSS T

38) Dadabhai Marcji has described his theory of 'Drain of
Wealth” in the book i

EETTE AR S HOR e & gwrger i & fRE

TeF W a0 T
A} Britsh Rule and its

Consequences / fafesr

B} Poverty and Un-British
Rule in India ¢ 9Tl o5

FALEETH -y wF s siEar
Fe Al
C) Mature of British D) Explonative Matre of
Colonial Rule / e British Rule in India /
3 " LG o |t Tl B o
A T s )
i El Rk e

i

38) Which one of the [ullowing is a non-dimensional quantity ?

s dd = sm o
A) Co-elficient of viscocity  B) Mank's constant ! TEE
’ .
{ SUTAAT [T i
C) Strain / W#E D) Gas constant / 319 o=

40) Who was the author of Telugu Work Amuktamalyada?
Ao FT 3T FoEr 1 S gt e

A} Harihara / gFET

C) Krishnadevaraya

FOUTEEY

B) Bukka / gF
D] Det-':-tm}'a ,"aﬂTm'

41) The presence of pollutants in the environment is usually
expressed in ppm, whers ppm stands for:

HEVT F UREE #T IufRuty B amwma 6 O
mﬁma?rﬁmrm%mﬁﬂﬂrwwqp‘rm
T -

A} pallutant prevent B) parts permillion / 9T
measures [ UTeEE - T L
e #58 |
€ purity per microgram | o) particles per male f |
=AE 4y AEETH aiféFes Uy Al
42) Lconomics classifies the man-made instrument of

production as:

e A AT seme susor T Ry s A
Tt et aa

A) capital | GFT
C) equipment / FAERTOT

B}
D)

organizalion / TS
labour / B

43} The first President of independent India was:

e HIE & TUH g Sid 47
A) Sardar Patel / ATETT B) Dr Rajendra Prasad /3T
Ly g TS
G} Dir 8. Radba Krishnan ¢ D] 1L, Nchru !/ E’T.‘E'ﬂ'. ;}F—,F
2T, T TN T

44) Who esiablished the *Sharda Sadan', u school for Indimm
Widaws in colonial lndia?

ﬁuﬁﬁﬁxmﬁmﬂﬁw#ﬁraw
AeA" T &7 BT e o

A) Saraymi Naidu B) pandita Ramabai /
TIatedl Ay UTEl THETE
C) Mahadev Govind Ranade D) Davanand Saraswat | I

[ weeT Midee U2 EaTHE JIEgar

(020145 /1174187
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Part B: General Knowledge and General Awareness

Wi# W AT T TE R ST

45) Democracy is a 'government in which everyone has a share
was the opinion of:

wrepar ey aTE E fown gedes fr federdr g
o e AT

50) How dees agricullure promote the Indian  industrial
development?

FE o g detEe Rew a7 ggE Fy ae
e &2

Al ol ey | e B} Abraham Lincoln / A) By providing food and B) By opening up market
TR T ¢lothing to laborers | for industrial products /
C) Plato / Selgt D) jeovans / Rrarasg AfE= &= 348 i Irenfaes o= *
vt s A T AR
46) The Cash Reserve Ratio is a tool of : C) Allof the given options /D) By supplying raw
ﬁammmﬁm%‘? Re o BEeT 7 & materials /| FET HIA
A) Piscal policy / TSRS Bl Manetary policy | HITaaR o o G 2
G e
C) Tax policy B Tilc D) Agricultural pulic:yﬁ[ﬂﬁ‘
A
47) The greatness of Shershah lies in his:
AT i FETA B e o7
A} Sceular attitude / B) Administrative reforms /
uAfATer widET ST Ty
C) Superior generalship / D} Viclories against
oS TALH Biell Humayun / AT 97 30d
48) The term “URL’ used in Iniemet techmology stands for:
SeieT Saeiiol A WEET eSO U &
Hffw 57
A)  Uniform Remote Lozater B Unigue Resource Locater
| giewi e { e REE ey
wleheT
C} Uniform Resource D) Unigue Remote Locatar
Locater | TAHH ) af Refe A
g ey
49) Which of the following countries has broughtl outl o stamp
on hother Teress (o celebrate her hirth anniversary?
AT ST & T A & o0 39 0 Twe
frenaias o & fm & o wentem & 87
A) pakistan | ITREEEE B) ndi / s
C) usa / s D) uk /7.
E02M5. 1174987 9 PTG
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Fart G- Elementary Mathematies

T T YRfEE dEee

Part C: Elementary Mathematics
: . " E - ﬁ

16 men arz able to complete a piece of work in 12 davs
working 14 hours a day. How long will 28 men, working 12
haurs a day, take to complete the work?

16 3TEHT B 7 14 52 HIF 50 et 8 5 12 Ba &
W T HEA £] 28 WA A A 12 G A @
o Thelet e 3 ey et

) 7 days / ResT
) 8 days i ey

B) lﬂdﬂysiﬁﬁ{
D) 6 days / Tt

A certain sum amounts to T 1725 a1 5% per annum ai
sityple intcrest and T 1800 in the same time at 20% per
annum at simple interest. Find the sum.

s iR 150 o @9 ) [T S gy 9 3
1725 81 St & 3R 20% 9 99 7 wuRor s
&Y WY 36 B FHA #1800 @ Fweh ¥ @y
qaT?
T 1700
T 1650

B) T 1500
D) 2 1200

A dealer marks his goods 20% above cost price and ollows
a diseount of 10% to his customers. His Eilin perceniage is-

U T 39S A OV 3R HE Ao men O
20% HEF Fraar & 3t 3o mEet = 1000 B
TT &1 B| 3T o v fae 29

6% B) 7%

% D) 9%

Raja car do a picce of work in 20 davs while Ramesh can
fnish it in 25 days. Ramesh started working and Raja
cinzd him alter 10 days. The whaole work is completed in

TN oY S o 20 B F O 0 wear S ot
S 25 R A A W THI & 1 A T 3 10
T AT T o F U ) g3 e e e A o
ﬁ-;-nvla

I days / & B) [ 21"3 days | Teer

15 days | =1 D) 15 duys 1 T

35)

1008 divided by which single digit number gives o perfect
SquareT

1008 FI TE U 3 are Fem & st fFarso ie
HIATRH U ot J9Y. dEm a s

A) T B) ¥
c) ¢ D) 4
56) Aright circular cune of height 20 cm and base radius 15 em

A)
C)

57)

A)
C}

is melted and casted ints smaller cones of equal sizes of
height 5 cm and hase mdius 1,5 em. The number of casted
rones are-

20em FFHT 15 em AU 42T a1 o 9 ST
UF F T S E A 3T s em FE THT 1.5 cm HTENT
hmaﬁmmtmma@#ﬁmmﬁ

& BT AEAT & we e et
110 B) 300
150 D) 400

A student starting from his house walks at a speed of2 1/

km / hour and reaches his school & minutes late. Next day
starting at the same time he increases his speed by | km /
hour and reaches 6 minutes carly, The distance between the
school and his house is -

T O W R A2 Vo Ry ufa der £ iy & gwe
I FRe 6 TTE &8  ugaan &) vy e aw 3el
THT 8 & woien ¢ A 3 w1l | R uiEee g
T 3% 6 FAeTE Tee OEe arar & v R suE e E
e ght &

4 KEm | TRHEY
SUEKm ! Tanaft

B) 6km / Frai
D) 13f4Km|’w

58) The mean proportion of 121 and (.00 is-

A)
C)

1.21 313 0.09 FT AT HegTT F4T EP

1.03 B) 0,033
0,33 D] 3.3

59) The value of VG0043T is equal to
V000447 w7\ #4137

A)
C)

.21 B) 0.02]
0.0021 D) 0.00021

G5 1174107
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Fart C; Elemantary Mathematics

T T SETEE WA

60) A batsman makes a score of 87 runs in the 17% inning and
thus increased his average by 3. Find his average afler 177
nning.

v Feorarer 17 dT gy & 87 o a9 g 3 S A
Sy 3T 3 T &g swary) 17 8F ol & &g 3wE
e e fifan)

A) 90
c) 3¢

B) 84
D) &7

61) A fruit merchant makes a profit of 25% by selling mangoes
al & certain price. If he charges 21 more on each mango, he
would gain 50%. At first the price of cne mango was-

o el T 1 O T A 9T IH g9 O
250 FTAM A & | ofe ag uodw wE W I HYE
A A S 500, 3T AT BT | WIEeT 7, 30 & AT
EGEIE
A) T6
c) ¥7

B) T4
D) %5

B62) A seller increases the cos: price of an article by 30% and
fixed the marked price as Rs286. But during sale he gave
10% discount to the purchaser. Percentage of Prolit will be-

v Far & TRl g & oa #sd 30% "@51

fror 3T 3R HEg €286 o0 W faam @i T
F #wAT 35 =SS F 10% §r g &Y o &

gfaea fraar gem?

A) 15
C) 17

B) 20
o) 10

63) An iters was sold for TI600 at 25% discount. Its marked

DrICe Was

Foaraft e 7 23 1 T 9T 3500 3 4= 77T IHHT
i Hpd 4T ur?

64) If the cost of an article is T P after 1wo SULGESSIVE
reductions of 20% and 25%, the original price of the article
wWias

e Faradr ae Y ST 20% 3T 25% i & HTFFAR
AT T F A2 TP AT A aEg R HE ST =
=

A} 24P B) T3P
5 5

C) T5F D) T5F
3 4

65) A plane can cover 6000 km in § hours. If the speed i
increased by 250kmph, then the time aken by the plane to
cover Y000 km is

v T 6000 FHAT &7 28T 8 592 3 a9 &1 T & 4G
Fady 1T 250fE wiE der a3 £ s ar vooo [ 6
= 37 &=  TaAT I Eaan §ad w9y

A) 5 hours / G& B) & hours / ©&
C) 6 hours / EE D) 0 hours | G

66} A solid right prism made of jron has cross section of a
tiangle of sides 5cm, 10em, 13em and of height 10 cm. 1I
one cubic cm of iron weighs Tg, then the weight of the
prism is (approximately)

ﬂﬁﬁwmmﬁﬁﬂ'jcm, 10cim, 13cm w
e WY 10 om 59 GEA S sue Fey AR e F
Tk 67 cm &1 gate Tg B, ol T4 &1 597 (=)
TRt glamT

B) 110058 gram / TR
D) 14708 gram / WA

A) 1371.32 gram /T
C) 15708 gram / ATH

67) A sum of T 800 becomes T 956 in 3 years at a certain rute
of simple interest. 1f the rate of interest is increased by 4%,
what amount will the same sum become in 3 vears?

A) T4300 B) T4800 F 800 $r T wrnrer =@ & UF R &t 9l
C) T2700 D) 2880 a§ 3 7956 8 o §| afy =er & 4w S & S
oY ag o s at 7 FRast g Soedt?
A) T 1052 | B) T 1042
C) T 1024 D) T 1025
GRS 1174197 11 P.T:Q
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Fart C: Elementary Mathematies

HOT T UETEE HETE

68) A shopkeeper, in order 1o clear his old stock of T.V. sets,
offers 12% discount on the TV sets. If the marked price of
aT.V. set is T6500, the selling price of the T.V, set is:

UF gHlwe 21dT Jel & U &ia & 'eg s F e
Tl 8 9T 12% Hrgge &ar § 77 A de T aey

To500 & &t 21t B @ e e e i
A) 75700 B) T 4000
C) T5720 D) F 5400

69) Average income of *A"and *B” is T200 and average income
of "7 and "D is T250. The average income of A,B.C and D
is-

A IR B 1 3 3 T200 £ 30 © vE D st sy
2250 & | AB.C ¥R D S aitwe sy frash i

A} T200 B) ¥125
C) 135 D) T106.25
70) The average of 1,3,5,7.9.11,......25 terms is-
1L3,579,11,.....25 HEaT3lr &1 stag Resaam g
A) 125 B) 25
C) 625 D} 50

1 T1) The ratio of ages of two persons is 3:9 and the age of one of
them 15 greater than the other by 40 vears. The sum of their
ages in vear is-

ar S TEaT &t 3 H HATH 5.0 F IR AT vy
HIY GFR F 40 9 HTErR ) T3 31 5 91 ey

RIS
A) 140 B) 180
C) 150 D) 150

Question Nos.72 to T3
¥ HEAT T2 # 13 7%
Directions / F&er Suidy the dara and answer the ACSTIONS,

ATAFT FT HETT Fa vl & Feerw ey

The score of students of a class are given as follows:

oF BT H 77 $1 §ie T GiE sw g A

A ]rl 1613 3
% T T E0.58 | o000 .I_Ifr. i | P03 | 120130 014
Noof Sdenss | ) |

5 | & (] 1 3
wWA W fdEn ;

72) The number of students whose 10} score is 100 and more is-

100 3R 370F gfe afeyr 35 aoa s g o
T TEr T &7

A) 36
C) 46

73) Number of students whose 1Q score is 140 is-
140 gfe SR 3w ar S0 T o Y g
TSaraT #7

A) | B) 2

C) 0 D) undeterminable from
given data | 20 o
HTEg @ AT Aw
ol

74) The smallest number by which 243000 be divided so that
the quotient is a perfect cube is

243000 1 BRE WgoR wEar § Rafe R e
% wemre ow qot ae d@wmar anoe

A) 9 B) 27
c} 3 D) |

75) In a college elecrion a candidate secured 62% o the voles
and is elected by a margin of 144 voles. The total numbe
of votes pollad is;

Tk IOl 3 §U Telrel 3 e SEATEET Y 629% HeT ST
BU 3% 144 Hett & Hew & o 9 = e st B g
e e <
A} ROD
C) 1200

B) 925
D) 600

GOEMS ¢ 1174187
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Pait D: English

Part D: English

Question Nos 76 to T8
o5 HEYT 76 @ T8 A%

Directions / fadwr Some parts of the sentences have
arrors and some are correct, Find out which part of a
sentence has an error and blacken the circle
comesponding to the appropriate correct option, If a
sentence is free from error, biacken the circle
corresponding fo *Nao Error” option in the Answer Sheet.

76) He finds fault at everything | do

A) He finds fault
c) 1da

£

B} al everything
D) No emror

77) The kilchen need painting badly and | must get it

done.
A) nzed painting badly B) The kitchen
D) Mo error

C) and I must get it done

78) If | wil play my best | can win any day against
anybody,

A} If 1 will play my best
C) apainst anybody

B) 1 can win any day
D) MNoerror

Question Nos.79 to 81
T e 7A@ Bl %

Directions / [@2% A part of the senfence s underined.

Belaw are given alternatives to the underlined part which
may improve the sentence. Choose the comract
alternative. Iri case no improvement is needed choose

T9) Years ago, | met a man which was President and Chairman
of the board of 8 company.

A) Noimprovement
C) Whom

B) Who
D) Whose

BO) Covering thirly kilometers in thirty minutes are not p great

A) aren’t a great distance B} MNoimprovement

Ii *No Improvement’,
|
i
!

C} 5 o distance D} isnow A great distance

81) Where are vou coming from?

A) do you come from B) were vou from

G} Mo improvement D} yuu are coming from

Question Nos. B2 to 85
o7 §EAT 82 F 85 A%

Directions / 1% Sentences given with blanks to be
filled in with an appropriate word{s). Four altematives are
suggested for each question. Choose the carrect
alternative out of the four and indicate it by blackening
the approprate circle in the Answer Sheet

82) She had to
the party meeting.

lness in order to avoid going to

A} feint B) fain
C) faint 0y feign
83) Your _nature will aid you in attaining success

in every venture you underiake,
A) prrsevering
C) rotund

B) catalytic
D) lackadasical

B4) The publisher is bringing “a revised edition of

this boak
A) about B) up
C) round D) out

B5) This is our house and thatis

A) them B) their
C) theirs D) their's

Question Nos.B6 to 88
¥¥y §&4T 86 & 83 OF

Directions / [Rder Out of the four altematives, choose

the one which can be substituted for the given word /
sentences and indicate it by blackening the appropriale
circle in the Answer Sheeat

86) Onewho can not be corrected-

A} Indelatgable
C) ineligible

B} indolent
D) incormigible

GL2015 1 1174197
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Part D: English

87) Put side by side-
A} Propose B) Depose
C) Juxtapose D) Impose

88) Chiel o Commmander of army-

A) Colonel
C) Major

B} Liculenant
D) General

Question Nos.B9 fo 91
TF HEGT 89 H 91 °%

Directions / @& Choose the ward opposita in

meaning to the given word and mark it inn the Answer
Sheet.

£9) superficial

A) Mammal B) Amicable

C) Artificial D) Genuine
90) fragile

A) weak B) strong

C) discard D} brittle

91) harmonious

A) Discordant B} Balanced
C) Concordant D) Sonorous

Question Nos.92 to 94
T FEIT 92 & 94 T

Directions / I@&er Out of the four allernatives, choose

the one which besl expresses the meaning of the given
word and mark it in the Answer Sheet.

92) fehcitated

A} adored B) encouraged
C) admired D) congratulated
93) honour

A) discipline B} courage

C) respect D) determination

9d) rectify
A) regularise B} condone
C) clanfy D) cormrect

Question Nos.95 te 97
UFT HEYT 95 & 97 AF

Directions / [@d&er Four alternatives are given for the

Idicm / Phrase undedined in the senfence. Choose the
altemative which best expresses the meaning of the
idfom / Phrase and mark if in the Answer Sheet.

95) e beats abour the bush.

A) talks continuously B) does not talk specifically
C) talks sensibly D) speak well

96) [ have taken fency to this car.

A) improved B) developed liking for
C) given imaginative D) revised
touches
i camy out
A} coninue B) complete something
C) bring D} totakein

GQuestion Nos.98 to 100

N H&ar 98 & 100 d%
Directions / faden Four words are given in each
guastion, aut of which only one ward is cormactly spall

Find the correctly speit ward and mark your answer in
the Answer Sheel,

98)
A) juvinnile B) juvenile
C) juvinile D) juvenille
99)
A) deteriorate B) deterriorate
C) deteriomate D) detariorate
100)
A} lmoledgeable B) knowledgable
C) knowledgeble D) knowledpeahle

GR201ET 1174137
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sy e fered

Question Nos. 76 to 78
T AR 6 H 7B d®

Directions / [ 20 av wegi & 3ugee el
gt & AT aear [Becy serfda § | 3 AaeT
FT TTT FAT TUT Fecid TP H AGGHT P
#AT |

76) et

A) s B) 7z
€ = D) gyrarr
77) ey
I A) sup B) waw
C) Fwar D) fraw
| ™8 afemd
Al o B)
C) wad D) gdr

Question Nos.79 to 81
T FSATTIE B EF

Directions / @& BT v araal & o gor # A &
it g & & @i & Toiw s A 3EW &, 39F
T T G T Qi B e ) Al aw
3 aiE g a @ @t v W g A e s
AT @ # Gl a9 Fe &

) e g s W Al g e 84wt g
A) e g€ e
g g HIFA T

B) migmai grem
D) % afe 7t

80) s =t wrae S FAY Saaeen & iR s 1
Pty i oy = el iR

A) gt o B e A AR
T o ey

C) sfrie ) Tt et
HFT

D) % 3

81) oy 2y ay et oy wamTeT AT SRIET e WTEd &

A) s ad B) g 3T v
C) quagucafas D} gmramard

Qwestion Nos.B2 fo B4
77 d&ar 82 & 84 T

Directions / fader: [2v v el & vl (wamanss
aeg) & fae ue-ar Feey Be aw § | 3w Reew
AT FUT el GAE 7 AT FA FAC |

82) =T
Al iy B) g
C) aqur D) sigfr
83) ey
A) B) wuxm
C) grew D) Fm=
84) gpaiey
A) gt B) <iger

Question Nos.85 to 87
T §EqT 85 # BT OF

Directions / fadw: Bv arv aw greral # v 7T 4<
2 st o gy & | ye T @ AT a7 I
GfAEr & FEgEn #lel FHC [

GDZLAS ) 1474157
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—illl.

S

e R ey

B5)

A) zrEax # = F B) sy A & v #
T faar o TeAT T T E

C momdraran® 0 gdaw o & &
EEIEIR el T W TR

86)

Al e sy B ey & Redt s

ol

Cleierdamrd] D oo el o 3

87)
A swrgg drrame B) sl oo 49 3w

Fm @ w el & I @
C) sqar o Frar o D)z T gamr

@l W W@ P C I A

Question Nos.B88 to 90
P FEAT 88 # 90 9%

Directions / Rder 3w v geais araarer & faw s
o | su% faw arvar Reey Be aw § ) 3837

fawe & gema FHFE H 3o TiREr & deaen

e FAT |

88) mer &Y 3wifA W AT |

Al sfs B) fog
Cl meras D) s

B9) g & wewr ol |

A) azarin B} ssufia
C) amnfem D) g

90) famar w7 B o EF

A gds B) aren
Cl g D) gegey

Question Nos.91 to 93
W FEIT A #0335

Directions / Rder B oo areat & Rew syt &
3fa el ganr gff & [v ge-aw @y B aw &
39gFd RaFeT giAe 73 3ea7 oier & Jagam Fer
ity

91}1%“-@:_{1-‘-[%1

A) s B) sefarmmwe :
C) s D) s !
92) syracpm & Ha W & uFe £ &
A) frsr B i !

Cl aft D) afer=
9) sprp oA W wEw - 9
EHHHT W T Uahal 8]
A) meErT B) mamm MEER W
C) sremaamy D) mmwmr

Question Nos. 94 to 98
T WEIT 04 F 9B T

Directions / 3dr B0 anr wgwdte & Re wmt #
3T et aamr ofd & [ an-aw Besy Bu o #
| 3UGFT [AFY GAT 37 307 uEE H EgE
Fo dNa |

Hgede 9
WA A W R A Rew & v Ay () Fed
ol O A e R el geeds & of e ga
7 &, T IAF AT A (L &l gEr @ [
FIA & 7 Iehel AT F Z@NT & A|TY () FAE
& G g g1 @R | OF S g £ 0 e
(V) & afr gay aw Fvary a1 & & [@em &
T Hed (V) HT Fewed Yer e E
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o4) 100) qrefy ey e -
Al (1) 3227 B) (1) merw A) it e 3T B & udl gEy &
C) (1) 3trom OF (1) wme=m e AR =TT
C) & 33T D) st N @ F=T

95)

A (1) 3R B () st

©) (1) wifeet D) (n) swwfeer

9%)

A (i) FE B) (i1} wf

C) (ymy e D) ) =
97)

A) (1v) e B) (v) sfwvard

€) (1v) weeaeh D) (1v) zwefi
98)

A) () wr B) (v) A=

C) (v) ameshr D) (v} st

Question Nos.99 to 100
o7 FEAT 90 § 100 %

Directions / fdar BT arv ggiawl #iv sisiFaa &

| |aF gt & v aeow Awey RU aw & | 93w &
| | Bv 3yzE g RBeew glav i 3w 9EE &
] FeGHT e HH0 |

%) § e 3y 7 Wl al -

A) g v ¥ AwRE O wid o we
Tufa # wer

C) E‘g’.g;ﬁ'ﬁﬁi}.’# D}!ﬁmm
KGO

—— e T e S . b

PO
SD2015 0 1174987 7
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